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Problem quickname: 7596

b

Quick:
Fill in the blank cells with the correct terms, as shown in the example. a and b stand o
for a and b in (a + b)? or (a — b)?. Hint: All numbers are positive.

formula | a | b | a® | b? 2ab expanded form

(S + 7“)2 s | r| s | r2 | 2sr=2rs r24+2rs+s2

(y + $)2 y | x| y? | 22| 2yzr=2zy 2?2 +2ry+y°?

(I — y)2 z |y | 22 | y? | 2zy=2xy 2% —2xy+y?

(134+7)% | 13| | 160 | #2 | 213r=26r |  r2+26r+169

(r+3)2 | r|3] 2| 9]| 203=6r r24+67r+9

(T‘ — 8)2 rls| 2 | s? 2rs=2rs r2—2rs+s2

(14 +2)% | 14| 2| 196 | 22 | 2142=28z |  22+282+196

(z+4)% | 2 | 4] 2 | 16| 204=8c 22 +8x+16

(y — :L’)Q y | x| y? | 22 2yr=2xy % —2zy+y?

({L’ — 2)2 x| 2| 22 4 2x2=4x 2 —Adx+4
27) Quick:

7596
Fill in the blank cells with the correct terms, as shown in the example. a and b stand
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Solutions to smp-7596-2/SILE

for @ and b in (a 4 b)(a — b). Hint: All numbers are positive.

formula al|bl| a® | b | expanded form
(4y + 6x)(4dy — 6x) | 4y | 62 | 164> | 3622 16y — 362>
(6r + 8s)(6r — 8s) | 6r | 85 | 36r> | 6452 3612 —64s>
(3s+57)(3s —5r) | 3s | 50 | 95 | 2502 9522572
(8s 4+ Tr)(8s — Tr) | 8s | 7r | 64s® | 4912 6452—49r2
(9s 4+ 8r)(9s — 8r) | 9s | 8r | 81s% | 6412 8152 — 6412
(85 4+ 21)(8s — 2r) | 8s | 2r | 6452 | 472 6452 —4r2
(8y + 4x)(8y — 4x) | 8y | 4z | 6492 | 1622 64y°— 1622
(5y + 2x)(by — 2x) | 5y | 2¢ | 252 | 4a? 25y —4a>
(4r +9s)(4r — 9s) | 4r | 95 | 1612 | 8152 16128152
(8x +9y)(8x — 9y) | 8z | 9y | 6422 | 81y° 642281y

3)

Fill in the blank cells with the correct terms, as shown in the example. a and b stand

for a and b in (a + b)(a — b).

formula a | b| a® | b? | expanded form
(r+s)(r—s) | r|s]| 2 |s r2—g?
(13+7r)(13—7) | 13| r | 169 | 2 169—12
(x4+3)(x—3) |z |[3] 2> ]9 z2—9
B+z)3—x) | 3 |z| 9 |a? 9—q2
(y+z)y—x) |y || y? | a2 y2—a?
@+y)e—y) |« |y| |y 2y’
(r+2)(r—2) | r 2| |4 r2—4
(x+9)(x—9) | = |9 2* |81 2281
(18 4+7r)(18 —7) | 18 | r | 324 | #2 32412
(19+7)(19—7) | 19| r | 361 | 36172

Fill in the blank cells with the correct terms, as shown in the example. a and b stand
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Solutions to smp-7596-2/SILE

for a and b in (a + b)? or (a — b)?. Hint: All numbers are positive.

formula alb| a® | b? 2ab expanded form

(4s —3r)? | 4s | 3r | 1652 | 92 | 24s3r=24rs | Or2—24rs+16s>
(2y + 71‘)2 2y | Tz | 4y? | 4922 | 2-2yTx=28zy 4922 +28zy+4y>
(38 + 47’)2 3s | 4r | 9s% | 16r2 | 2:3sdr=24rs 1612 424rs+9s>
(Ts+8r)% | 7s | 8r | 495 | 64r2 | 27s8r=112rs | 64r2+112rs+495>
(55 +7r)? | 5s | 7 | 2582 | 49r2 | 2.5s7r=TOrs | 49r+70rs+25s>
(8x + 6y)2 8z | 6y | 6422 | 36y2 | 2-8z6y=96zy | 6422+962y+36y>
(88 — 77“)2 8s | Tr | 64s? | 4912 | 2-8sTr=112rs | 49r2—112rs+64s>
(47 —95) | 4r | 95 | 16r% | 815> | 24r95=72rs | 16r°—72rs+81s>
(&T + 9y)2 8r | 9y | 6422 | 81y? | 2-8x9y=144zy | 64x>+144xy+81y>
(4y + 455)2 4y | 4z | 16y2 | 1622 | 2-dyde=32zxy | 1622+32xy+16y>

Good Luck!
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